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22-05-2024 

Q1. The length of an arc of a circle radius 10cm which subtends an angle of 450  at the 

Centre= _____ cm 

 
A 

5𝜋

2
 B 450 C 5𝜋 D 10𝜋 

Q2. 𝑐𝑜𝑡 (−
15𝜋

4
)= 

 A 1 B 2 C -1 D √3 

Q3. cot(
𝜋

8
) = 

 A √2 − 1 B √2 C √2 +1 D 1 

Q4. If Sin
7𝜋

6
+ 𝑥 𝑐𝑜𝑠

2𝜋

3
 = 0  then x= ? 

 A 0 B 2 C 1 D -1 

Q5. If 3cosx = 4sinx , x ∈ I quadrant, then cosx=? 

 
A 

3

4
 B 

4

5
 C 

3

5
 D 

4

3
 

Q6. 2250 = ____𝑟𝑎𝑑𝑖𝑎𝑛 

 
A 

𝜋

4
 B 

3𝜋

4
 C 

5𝜋

4
 D 

7𝜋

4
 

Q7. If a wheel revolves 720 times in a minute, then the radian measure covers in one second is: 

 A 24𝜋 B 12𝜋 C 6𝜋 D 3𝜋 

Q8. sin (
𝜋
2 − 𝑥) cos (3

𝜋
2 − 𝑥)

𝑐𝑜𝑠(𝜋 − 𝑥)𝑠𝑖𝑛(𝜋 + 𝑥)
= 

 A 1 B −1 C 𝑡𝑎𝑛𝑥  D 𝑐𝑜𝑡𝑥 



Q9. If Sec𝞗 =  √2 and   
3𝜋

2
<𝞗<2𝜋, then the value of: 

1+tan 𝛩+ sec 𝛩

1+𝑐𝑜𝑡𝛩−𝑐𝑜𝑠𝑒𝑐𝛩
 = 

 A 1 − √2 B √2 + 1 C 2√2 D 1 

Q10. 𝑐𝑜𝑠𝑒𝑐(−14700) = 

 
A √2 B −√2 + 1 C −2 D −

2

√3
 

Q11. Prove:  
𝑠𝑖𝑛3𝑥+𝑠𝑖𝑛5𝑥

𝑐𝑜𝑠3𝑥+𝑐𝑜𝑠5𝑥
= 𝑡𝑎𝑛4𝑥 

Q12. 
Prove: √2 + √2 + 2𝑐𝑜𝑠4𝜃 = 2𝑐𝑜𝑠𝜃 

Q13. Prove that if tan A= x tan B, then 
𝑆𝑖𝑛(𝐴−𝐵)

𝑆𝑖𝑛(𝐴+𝐵)
=

𝑥−1

𝑥+1
 

Q14. 𝐼𝑓 sin 𝐴 =
3

5
 𝑎𝑛𝑑 𝑠𝑖𝑛𝐵 =

5

13
, 𝑡ℎ𝑒𝑛 𝑒𝑣𝑎𝑙𝑢𝑎𝑡𝑒 sin(𝐴 + 𝐵) . 

Q15. If tanx = 
4

3
, x lies in the third quadrant, find the values of sin 

𝑥

2
 , cos 

𝑥

2
 and tan 

𝑥

2
 

Q16. Prove that: 𝐶𝑜𝑠2 𝜋

8
+ 𝐶𝑜𝑠2 3𝜋

8
+ 𝐶𝑜𝑠2 5𝜋

8
+ 𝐶𝑜𝑠2 7𝜋

8
= 2 

Q17. Prove: (1+cos
𝜋

8
) (1+cos

3𝜋

8
) (1 + cos

5𝜋

8
) (1 + cos

7𝜋

8
) =

1

8
 

Q18. If tanA =
𝑝

𝑝−1
, 𝑎𝑛𝑑 𝑡𝑎𝑛𝐵 =

1

2𝑝−1
, 𝑝𝑟𝑜𝑣𝑒 𝐴 − 𝐵 =

𝜋

4
 

Q19. Prove: tan 3 x tan 2 x tan x = tan 3x – tan 2 x – tan x 

Q20. Prove that 𝑐𝑜𝑠2𝐴 + 𝑐𝑜𝑠2(𝐴 +
𝜋

3
) + 𝑐𝑜𝑠2 (𝐴 −

𝜋

3
) =

3

2
 

******************************** 

ANSWER 

Q1 A Q2 A Q3 C Q4 D Q5 B 

Q6 C Q7 A Q8 B Q9 D Q10 C 

Q14 Sin(A+B)= 
𝟓𝟔

𝟔𝟓
 Q15 sin 

𝒙

𝟐
 =

𝟐

√𝟓
, cos 

𝒙

𝟐
= −

𝟏

√𝟓
 and tan 

𝒙

𝟐
= -2 

_____________________________ 


